## Integration by Parts.notebook

Integration by Parts  
Formula  

$$\int u dv = u \cdot v - \int v du$$
  
ex.1 Evaluate  
 $\int x \sin(3x) dx$  = Trig  
 $du = dx$   
 $v = -\frac{1}{3} \cos(3x)$   
 $u = x - Algebraic  $4v = \sin(3x) dx = Trig$   
 $du = dx$   
 $v = -\frac{1}{3} \cos(3x) - \int v du$   
 $\int x \sin(bx) dx = x(-\frac{1}{3} \cos(3x)) - \int -\frac{1}{3} \sin(3x) dx$   
 $= -\frac{1}{3} x \cos(3x) + \frac{1}{3} (\frac{1}{3} \sin(3x)) + c$   
 $= -\frac{1}{3} x \cos(3x) + \frac{1}{3} (\frac{1}{3} \sin(3x)) + c$   
 $= -\frac{1}{3} x \cos(3x) + \frac{1}{3} (\frac{1}{3} \sin(3x)) + c$   
 $= -\frac{1}{3} x \cos(3x) + \frac{1}{3} (\frac{1}{3} \cos(3x)) + c$   
 $\int x \sin(1x) dx$   
 $\frac{1}{3} dx = \frac{1}{3} x \frac{1}{3} (\frac{1}{3} e^{1x}) - \int \frac{1}{3} e^{1x} dx$   
 $= \frac{1}{3} x \cos(3x) + \frac{1}{3} (\frac{1}{3} e^{2x}) + c$   
 $\int x \sin(1x) dx$   
 $\frac{1}{3} x e^{1x} - \frac{1}{3} (\frac{1}{3} e^{2x}) + c$   
 $= \frac{1}{3} x e^{1x} - \frac{1}{3} (\frac{1}{3} e^{2x}) + c$   
 $= \frac{1}{3} x e^{1x} - \frac{1}{3} (\frac{1}{3} e^{2x}) + c$   
 $x = x hx - \int x(\frac{1}{3} dx)$   
 $= x hx - \frac{1}{3} x e^{1x} - \frac{1}{3} (\frac{1}{3} e^{1x}) + \frac{1}{3} (\cos(3)) + c$   
 $x (4x - 1) + c$   
 $= \frac{1}{3} x \sin(31) + \frac{3}{9} \cos(31) + \frac{3}{9} (\cos(31)) + c$$